2nd Summative Evaluation-2022
Class-I1X Sub : English Full Marks-40  Time-1 hour 30 mins.

Name Roll No Sec

Reading Comprehension (Seen)
1. Read the passage carefully and answer the questions that follow :

“There, there, now don’t begin that groaning again. Open your mouth. Your tooth is
loose but you’re not going to die for that. Mary, get me a silk thread.” Tom said, “Oh, please
auntie, don’t pull it out. It doesn’t hurt any more. Please aunite, I don’t want to stay home
from school.”

“So all this was because you wanted to stay home from school and go fishing? Tom,
Tom, I love you so much and you try to break my heart in every way with your naughtiness!”

By this time the dental instrument was ready. The old lady fastened one end of the silk
thread to Tom’ tooth and the other end to the bed-post. She pulled and the tooth hung dangling
by the bed post. Tom now had a gap in his upper row of teeth. This enabled him to smile in a
new and admirable way.

A. Write the correct alternative in the given space to complete the following sentenc-
es:
1X2=2
1)  The auntie was very
a) caring b) irritating c) harsh d) dominating.
i1) Gap in Tom’s upper row of teeth made him
a) ugly b) admirable c) naughty d) loving.
B. Write ‘T’ for ‘True’ and ‘F’ for ‘False’ in the boxes given in the right hand side :

1X2=2
i)  Tom was dying in toothache.
i1) Auntie was very young.
C. Answer the following question : 2X1=2

What was the effect of Tom’s behaviour on auntie’s mind?

Ans :

2. Read the poem and answer the questions that follow :

Mild the mist upon the hill,
Telling not of storms to-morrow;
No; the day has wept its fill,
Spent its store of silent sorrow.

Oh, I’'m gone back to the days of youth,
I am a child once more;
And’neath my father’s sheltering roof,
And near the old hall door.

I watch this cloudy evening fall,
After a day of rain:

Blue mists, sweet mists of summer pall
1



IX-E(2)

The horizon’s mountain-chain.

A. Write the correct alternative to complete the following sentences:

1)  “Store’ refers to
a) rain b) cloud c)mist d) storm.
i1)) The poet remembers her life of.
a) adulthood b) youth c¢) infancy d) present day.
B. Answer the following questions :
1)  How does the poet predict about the next day?

Ans :

1X2=2

1X2=2

i1) What does the poet enjoy?
Ans :

Reading Comprehension (Unseen)

3. Read the following passage and answer the questions that follow :

Thiruvanantapuram : The state will host the 27th National Children Science Congress
(NCSC) at Mar Ivanios Vidyanagar, Nalanchira, from December 27-31. Jointly organized by
Kerala State Council for Science, Technology and Environment (KSCSTE) and Department
of Science and Technology, the Government of India, it is the first time that Kerala is playing
host to the Science Congress. The Chief Minister Pinarayi Vijayan will inaugurate NCSC at

Girideepam Convention Centre, Nalanchira at 11 a.m.

As many as 658 children in age group of 10-17 years from across the country including
25 delegates from Indian Schools in Middle East countries will participate in the event.

The theme of this edition of Science Congress is ‘Science, Technology and Innovation

for a clean, green and healthy nation.”
(Adapted from a report published in the TOI, dated December 27, 2019)
A. Tick (J ) the right answer :

1)  Kerala is to organize the Children Science Congress for the —

a) First |:| b) Second |:| c¢) Third |:| d) Fourth |:| time.

i1) Number of students from India is—

a)658[::] b)657[::] c)633[::] d)630[::]

ii1) The |Er0gramrne will run for—

a)3 b)4| |c)5| |d)6| |days.
iv) Kerala plays the part of a—

1X4=4

a) guest b) host |:| ¢) participant |:| d) none of these |:|

B. Each of the following statements is either ‘True’ or ‘False’. Write ‘T’ for ‘True’ and ‘F’
for ‘False’ in the boxes on the right hand side. Also pick out suitable line(s) or phrase(s)

from the passage in support of your answer.

(1+1)X2=4

1)  The National Children Science Con%ress is organised in association with both the

state and Central Governments

Supporting Statement :




4.A.

IX-E(3)

il) Pinarayi Vijayan is the Chief Minister of Kerala |:|

Supporting Statement :

Answer the following question : 2
What is the theme of the National Children Science Congress?

Ans :

Grammar And Vocabulary

Do as directed : 1X4=4

1) I felt that all the other passengers had sympathy for the poor vendor. (Change into
a simple sentence)

Ans :

i1) Wah! Taj, what a creation. (turn into an assertive sentence)

Ans :

ii1) None is so intelligent as Kamal. (make the sentence affirmative)

Ans :

iv) I can demand it. (Change into a negative sentence)

Ans :

Replace the underlined words with suitable phrasal verbs from the box below. You
may have to change the form where necessary. 1%X2=2
1)  We met him yesterday.

Ans:

i1) Police will enquire the matter.
Ans

Look into, come across, put out

Given below are the meanings of two words which you will find in the passage in
question No.3. Find out the words and write them in the appropriate boxes on the
right-hand side. 2X2=4

i)  Official beginning with grandeur.

i1)  An advisory body.

Writin
5 g



IX-E(4)
Write an application to your Headmaster/Headmistress requesting him/her to raise the

stock of reference books in the school library. (Word limit-100) 10
OR

Write a newspaper report (Within 100 words) about a road accident. Write the report

on the basis of the points given below : 10

Date and time — place — cause of the accident — consequences —measures taken.



2nd Summative Evaluation-2022
Class-X Sub : English Full Marks-40  Time-1 hour 30 mins.

Name Roll No Sec

Reading Comprehension (Seen)
1. Read the passage carefully and answer the questions that follow :

Father had a brother and a sister. He had quarrelled with his brother and left home. Years
afterward, he felt sorry and when he went back, he found his brother had died and he couldn’t
find his sister.

The letter father had just received was from his sister, Aunt Esther, mother of Dick and
Mimi. She was a widow who lived hundreds of miles inland. One day when Dick and Mimi
were out in the woods, they discovered the kite on the top of a tree and carried it home. When
their mother saw the kite patched with the letter, she turned pale. It was the very letter she had
once written to her brother. Philippa was her mother’s name and claude was her father’s. She
knew who we must be. So she sat down and wrote to Big Half Moon and Father received her
letter.

Next day, Father went and brought Aunt Esther and Dick and Mimi with him. They have
been here ever since. Aunt Esther is a dear and Dick and Mimi are too jolly for words.

But the best of it all is that we have relations now!

A. Write the correct alternative in the given space to complete the following sentenc-
es:
1X2=2

1)  The letter was written by
a) Aunt Esther b) Claude c) Philippa d) Mimi

i1) The feeling that pleased Philippa and Claude the most was that

a) they had a kite b) they had relations c) they could play d) they were in the Big
Half Moon.
B. Complete the following sentences with information from the text : 1X2=2

1)  Dick and Mimi discovered the letter as they.

i1))  Aunt Esther recognized the letter by

C. Write ‘T’ for ‘True’ and ‘F’ for ‘False’ in the boxes given in the right-hand side :
1X2=2

1)  Father was remorseful as he went back home.

i1) The letter made aunt Esther almost faint.
2. Read the poem and answer the questions that follow :

I must go down to the seas again, for the call of the running tide
Is a wild call and a clear call that may not be denied;
And all I ask is a windy day with the white clouds flying,
And the flung spray and the blown spume, and the sea-gulls crying.

I must go down to the seas again, to the vagrant gypsy life,
To the gull’s way and the whale’s way where the wind’s like a whetted knife;
And all I ask is a merry yarn from a laughing fellow-rover,
And quiet sleep and a sweet dream when the long trick’s over.
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A. Write the correct alternative to complete the following sentences: 1X2=2

1)  Call of the sea is very.

a) weak and low b) strong and clear c) laoud and harsh d) shrill but pleasant
i1) The sea-gulls will be—
a) flying b) running c) crying d) laughing
B. State whether the following sentences are True or False : 1X2=2

1)  Wind was pleasing

i1) The poet wished a very calm and quite life
Reading Comprehension (Unseen)

3. Read the following passage and answer the questions that follow :

Kolkata : More than 300 migratory workers from Kolkata and its surrounding districts
who have been under lock down in Maharastra and Kerala for the past 10 days have appealed
to the Chief Minister to take arrangements to bring them back home. With the nation going
for a lock down for 21 days from midnight of Tuesday these workers — mostly salesmen or
labourers with no money or resources — are running from pillar to post so that they can return
to Bengal.

‘Every February we come to Karad in Pune and stay for 2 months, we collect the local
food grain, called jowari from godowns, hire vehicles and supply it to the villages. This year
we came on Feb.’18 — just when the Covid-19 threat was starting and worked for few days.
But everything started going wrong after that. The local administration asked us not to leave
the house’, said Jayanta Bramhachari, one of the 150 salesmen stuck in Karad.

(Adapted from a report published in the Times of India, dated March 26, 2020)

A. Tick (v)) the right answer : 1X4=4
1)  The persons come in Maharastra for —
a)ll |b)2| |c)3| |d)4| |months.

i1)) The migratory workers have—

a) adequate b) necessary |:| c) huge |:| d) no |:| -money.

ii1) The mentioned workers go out mostl% to labour—

a) household job |:| b) farming c) sailing |:| d) selling |:| .

iv) Local administration told them to —

a) leave |:| b) stay at |:| c¢) work from |:| d) keep away from |:| -the

house.

B. Each of the following statements is either ‘True’ or ‘False’. Write ‘T’ for ‘True’ and ‘F’
for ‘False’ in the boxes on the right hand side. Also pick out suitable line(s) or phrase(s)
from the passage in support of your answer. (1+1)x2=4

1)  The workers went from Kolkata only |:|

Supporting Sentence :

i1) The Covid-19 threat was starting from 2018. |:|
Supporting Sentence :
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Answer the following question : 2
Why did the administration ask them not to leave the house?

Ans :

Grammar And Vocabulary

Do as directed : 1X6=6

1)  Swami said, “This was an unexpected question from Samuel.” (Change into a
indirect speech)

Ans :

i1) He is not more intelligent than his brother. (Make it positive)

Ans :

iii) Students generally make a noise in absence of a teacher. (make it complex)

Ans :

iv) If you want delivery, pay the bill. (Make it simple)

Ans :

v)  We had to call a meeting. (Make the sentence negative)

Ans :

vi) She dances like a peacock. (Make it interrogative).

Ans :

Given below are the meanings of two words which you will find in the passage in
question No.3. Find out the words and write them in the appropriate boxes on the
right-hand side. 2X2=4

i)  Adjoining

i1)  Things with value
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Writing
Your school is to organise a health consciousness camp in the school. As the Student
Captain, write a notice regarding the matter. You must write on the basis of the following
points. 10
Date and time — venue — duration of the programme — How to conduct — request
to attend.

OR
Write a dialogue between two friends (not more than five speeches for each) about the
necessity of banning single use plastic products. 10



2nd Summative Evaluation-2022
Class-V Sub : English Full Marks-20 Time-40 mins.

Name Roll No Sec

Reading Comprehension (Seen)
1.  Read the passage carefully and answer the questions that follow :

“I was not very good at sports. But I could draw very well. As a result, [ became the
favourite of our drawing teacher, Ashubabu. He was given the charge of decorating the hall
for the annual prize-distribution ceremony. He also conducted an event called ‘Music drawing’.
For this event, there would be a blackboard and coloured chalks on a table. A student would
sign a song and another would draw a picture on the blackboard, trying to capture in lines
and colour the essence of the song. In this way, through many such happy and memorable
episodes, | spent six years of my school life.

A. Tick (¥") the correct answer from the given alternatives : 1X3=3
1)  The author was good in—

a) playing b) reading c) drawing d) writing
i1) The passage is about—
a) school life b) college life ¢) childhood d) old age
i) It is a/an—
a) report b) story ¢) biography d) autobiography
B. Complete the following sentences with information from the text : 1X3=3

1)  Ashubabu was

i1)  Articles used for ‘Music drawing’ were

ii1) The author spent

C. [Match the words In colouinn A with their meanings in column B 1X3=3
A B
Decorate unforgettable
Memorable to hold or control
Caprure 0 Take peautifut
Grammar
2.A. Fill in the blanks with proper prepositions from the box below : 1X3=3
1)  We went there a bus.
i) Go bed early.
ii1)) He came here my birthday.

(at, on, by, to, into)

B. Write the correct alternative to fill in the blanks : 1X3=3
) 1 (go/went/am going) to school now.
i1) There (am /is / are) 17 class rooms in my school.
iii) My friend Kajal also (read / reads / is reading) with me.




V-E(2)

Writing

Write five sentences to describe your experience in the Zoo you have recently
visited.

5
Hints : Name of the zoo — time of visit — animals and birds seen — eating habits —
your experience.
OR
Write a short paragraph on Vidyasagar. 5

10



2nd Summative Evaluation-2022
Class-VI Sub : English Full Marks-25 Time-50 mins.

Name Roll No Sec

Reading Comprehension (Seen)

1. Read the passage carefully and answer the following questions :

I had seen the Magic Shop from afar several times. I had passed it once or twice,
but never had I thought of going in. One day, my son, Gip dragged me up to the shop.
There was such keenness in him that [ was forced to get in.

It was a little narrow shop, not very well lit. On the shop counter, there were several
crystal balls. On the floor, there were magic mirrors: one to draw you out long and thin
and one to make you short and fat. While we were laughing at all these, the shopman
appeared.

“How can I help you?” said he.

“I want to buy my little boy a few simple tricks,” I said.

“Um!” said the shopman, and scratched his head for a moment, as if thinking. Then
he drew from his hair a glass ball and said, “Something like this?”” and held it out. The
action was unexpected. I had seen the trick done at magic shows, but I had not expected
it here.

A.  Tick (¥) the correct alternative in the boxes : 1 X4=4
1) The narrator had passed the Magic Sholp:l—

¢) several times |:|

a) once or twice b) twice or thrice
i) On the shop counter there were —

a) magic mirrors |:| b) glass balls |:| c) crystal balls |:|
i)  The narrator wanted to buy his little boy —

a) a glass ball |:| b) a few simple tricks |:| C) a magic mirror |:|
iv)  Gip and his father were laughing at —

a) crystal balls |:| b) magic mirrors |:| c) the shop man |:|
B.  Write ‘T for true statements and ‘F’ for false statements in the given boxes :1 X
4=4

1) The narrator had seen the Magic Shop from a distance.

i1)  The shopman held out a glass ball.

iii) The shop man scratched his head for a long time.

iv)  The narrator had never seen the glass ball trick earlier.

C. Answer the following questions: 1X4=4
1)  Who had eagerness to get into the Magic Shop?
Ans:
i1) When did the shopman appear at the counter?
Ans:
iii) What did the shopman draw from his hair?
Ans:
iv) Where did Gip drag his father?
Ans:
Grammar

11
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|

2.A. Fill in the blanks with appropriate articles and prepositions : 1 3=3
1)  Sports is—__ good exercise. It keeps are body and mind well. We can study
—  freshmind—____the evening.

B. Identify the types of the sentences. Write the names(type) in the boxes on the right
1
hand side. 2 X4=2

1)  Once upon a time there lived a monkey.

i1)  What are you doing ?

iii) Fetch a glass of water.

iv) What a beautiful flower it is !
C. Add a prefix / suffix to make opposite word. 1X3=3

i) Intelligent
ii) Obey

12



2nd Summative Evaluation-2022
Class-VII Sub : English Full Marks-25 Time-50 mins.

Name Roll No Sec

Reading ( Seen )
1. Read the passage carefully and answer the following questions :

Once upon a time a wealthy merchant lived in a big mansion with his three daughters.
All of them were very beautiful. The youngest girl was Belle. She was known for her
loveliness and for being pure at heart. Her sisters, in contrast, were wicked and selfish.

But their fortune soon changed. The merchant lost all his wealth in a tempest on sea.
So he and his daughters started to live a small farmhouse in a village. They had to work
hard for their living. Some years latter, the merchant heard that one of his trading ships
had returned to port. Somehow it had escaped the violent storm. Hence, the merchant
decided to return to the city to discover whether it still contained anything of value.
Before leaving, he asked his daughters:

“ Do you want me to bring any gift upon my return?”” Both his elder daughters asked
for jewels and fine dresses. But Belle said,

“Father, promise me, you will bring me a rare rose that does not grow in this part of
the country”.
A. Answer the following questions : 1%3=3

1)  Where did the merchant live ?

Ans :

i1)) How did the merchant loose all his wealth ?
Ans :

ii1) What is the name of the merchant’s youngest daughter ?
Ans :

B. Underline the correct answer : "1X3=3
1)  The merchant lived with his —
a) youngest daughter b) three daughters c) elder daughters.
i1) Belle asked her father to bring — a) jewels b) arose c) dresses
iii) Belle’s sisters were —
a) pure at heart b) wicked c) wicked and selfish

C. Identify which of the following statements are true (T) and which are False (F).
Give a supporting statement for each of your answers : 2X2=4

i)  All the ships of the merchant returned.
S.S:

i1)  The merchant and his daughters started to live in a farmhouse in a village
SS:

Grammar
2.A. Underline the participle adjective in the following sentences : 3

1)  Abarking dog seldom bites.
i1)  You should help a wounded man.

ii1) Do not board a running bus. 13



)

Turn the sentences into indirect speech. 1X3=3

1)  Kamal said, “I am busy now.”

Ans :

i1) The teacher said, “It is raining.”

Ans :

ii1) Sona said, “I have made it here.”

Ans :

Complete the sentences with adjectives in their proper degrees. 1X2=2
1) Indiais (big) than Bangladesh.

i1) The Ganga is one of the (long) rivers in the world.
Underline the nominal compounds in the following sentences : 1X2=2

1)  The teacher is drawing a chart on the blackboard.
il)  After taking dinner we go to the bed-room.

Writing 5
Write a story in about 70 words with the help of the points given below. Give a title to your
story.
merchant — going home through forest — has bag full of money — rain falls-gets wet — curses
the rain — a robber comes — points gun at the merchant — shoots — unhurt — wet gunpowder
— merchant thanks God for rain.

OR

Write a letter of application to your Headmaster/Headmistress praying for three days leave. You
must show the reason.
Ans :

14



2nd Summative Evaluation-2022

Class-VIII Sub : English Full Marks-25 Time-50 mins.

Name Roll No Sec

1.

Reading Comprehension (Seen)
Read the passage carefully and answer the questions below :
And next day when she awoke she cried out good morning in a cheerful voice. She got

no answer. She jumped out of bed and ran to the cage. She gave a startled cry, for there the
little bird lay with his eyes closed, and he looked as if he were dead. She opened the door and
lifted him out. She gave a sob of relief, for she felt that his little heart was beating still.

“Wake up, wake up, little bird,” she said. She began to cry and her tears fell on the little

bird. ‘I cannot sing unless I’m free and if [ cannot sing, I die,” he said.

“Then take your freedom,” the Princess said. ‘I shut you in a golden cage because I loved

you and wanted to have you all to myself. But I never knew it would kill you. Go. Fly away
among the trees that are round the lake and fly over the green rice-fields. I love you enough
to let you be happy in your own way.”

A.

She threw open the window and gently placed the little bird on the sill.
Tick (J ) the correct answer from the given alternatives : 1X3=3
1)  The bird could not sing because he was —

a) free 1] b) caged |__g| c) sick 1] d) dead 1]
i1) The princess gave a sob of relief when she felt that the bird was —

a) dead ] b) alive ] ¢) happy ] d) unhappy ]
iii) The princess ran to the cage in the —

a) evening ] b) morning ] c) afternoon ] d) late night hour ]
Complete the sentences with information from the text : 1X3=3

1)  The princess gave a startled cry because

ii) Theprincess let the bird free to.

ii1) The bird was told to fly away

State whether the statements are true or false. Write ‘T’ for ‘True’ and ‘F’ for ‘False’ in
the boxes given on the right hand side. Provide sentences/phrases/words in support of your
answer. 2X2=4

1)  The bird was dead.

i1) The princes put the bird in a golden cage to show pride.

Grammar

2.A. Underline the adjective/adverb phrases and write the type in the boxes on the right

hand side. 1X4=4

1)  Ilive in a house built of bricks

i1) He came in front of my home.

iil) We may rest under the shade.

15

iv) This is a watch made in Japan.




Identify the principal clause and the dependent clause and fill in the chart given
below. 1%3=3
1) I will come because I love you.

i1) Swallow said that it was not raining.

ii1) He asked who he was.

Main clause Dependent clause
)
i)
iii)
Replace the underlined words with their antonyms (opposite words) X33
i) 1He was the happy prince
Ans :

i1)  So he suspected nothing.

Ans :

iii) King Arthur was a brave man.
Ans :

Writing 5
Write a story in about 80 words using the following hints.
Aking, proud of his power—tells he can control everything on earth—takes his courtiers
to the sea shore—orders the waves to move back—the waves lash at the feet of the
king—the king moves back in fear
OR
Write a letter to your younger brother advising him to be kind to animals.

Ans :
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